
https://www.pass4itsure.com/p4070-005.html
2024 Latest pass4itsure P4070-005 PDF and VCE dumps Download

 

 

 

P4070-005Q&As

IBM System z and zOS Fundamentals Mastery

Pass IBM P4070-005 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/p4070-005.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

 

 

P4070-005 VCE Dumps | P4070-005 Practice Test | P4070-005 Exam Questions                                1 / 3

https://www.pass4itsure.com/p4070-005.html
https://www.pass4itsure.com/p4070-005.html
https://www.pass4itsure.com/p4070-005.html


https://www.pass4itsure.com/p4070-005.html
2024 Latest pass4itsure P4070-005 PDF and VCE dumps Download

QUESTION 1

Which of the following describes the major difference between and FICON or ESCON channels? 

A. ESCON channels are faster, FICON channels are slower 

B. ESCON channels use hard copper connections, FICON channels use fibre connections 

C. ESCON channels are more secure than FICON channels 

D. FICON channels have higher capacity than ESCON channels 

Correct Answer: D 

 

 

QUESTION 2

Which of the following enables an organization to define individuals and groups with access privileges to z/OS? 

A. RACF 

B. APF 

C. JES 

D. SVC 

Correct Answer: A 

 

 

QUESTION 3

A system z architecture has two kinds of physical storage. There is central storage and auxiliary storage. Access to
central storage is _________. 

A. multi-synchronous 

B. asychronous 

C. synchronous 

D. duplexed 

Correct Answer: C 
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QUESTION 4

Which of the following describes the WebSphere Application Server (WAS) capability to detect application failures and
to restart when a failure occurs? 

A. ARM 

B. ASM 

C. RSM 

D. SRM 

Correct Answer: A 

 

 

QUESTION 5

Which of the following processes is needed to load a mainframe operating system? 

A. TSO/E 

B. IML 

C. JES 

D. IPL 

Correct Answer: D 
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